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ECONOMICS 7
Paper 1
Time : 3 Hours. L - Maximum Marks : 150
Note :— Attempt Five questions in all. Question No. 1 is
compulsory. All questions carry equéi marks.
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1. Explain consumer equilibrium with the help of

indifference curve and budget line. Draw price
consumption curve aﬁd income consﬁmption curve.
Separate income and substitution éffect from price
effecf for a normal good using Hicksian approach.
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Expl;ain Keynesian theory of employment and ificeme
distribution. How is it different from the classical
| approach ? Do you find applicability of macroeconoﬁlic
theories for underdeveloped countries ?
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Derive. IS and LM curves and explain simultaneous
equilibrium of goods and money market through IS-
LM curve. What causes shift of IS and LM curve ?
Show the effect of Expansionary monetary policy on
this equilibrium.
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4.,,‘2'-"Define fiscal policy. How is this different from
monetary policy ? What are the significance of these
policies for a developipg economy ? Do you think
that significance of ﬁgcal and inonetary policies .are
reducing in the efa of globa_lization and internal

reforms ? Give reasons in support of your answer.
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5. How is flexible exchange rate different from fixed
exchange rate system ? Do you think that the new
system rhas made the wvalue of one currency with
respect of the other currencies more volatile ? What
»significance does this new system have for balance

of payment situation for a poor country ?
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Explain Goods and Services Tax (GST). How is it -
different frorﬁ the present tax system ? Do you
agree that generétion of blagk money and evasion of

tax can be controlled if GST is implemented ?

Explain with reasons.
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/Ao you agree with the view that Indian economy
could not grow at a higher rate becaﬁse of excessive
state -intervenﬁon during first four decades of
development planning ? Given the socio-econopiic
_environment of the economy would you recommend
to reduce or increase the state intervention for
better performance of the economy in terms of
achieving more sustainable and inclusive growth ?
Give reasdné in support of your answer,
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8. Write short notes on any fwo of the followfﬁé-‘ :-

@ Money Amu}tiplier. A

(i) Types of ‘ budget éeﬁcit

(ir) D_iscriminating .monopoly

(Zv) R.ole ‘of IMF. |
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